
DESIGNED TO MAKE A 
SUPERIOR CONNECTION, 
EASILY, AND QUICKLY

•	DURABLE, IMPACT RESISTANT,  
   NON-POROUS MATERIALS 

•	DISTINCTIVE YELLOW COLORED  
   COLLAR FOR HIGH VISIBILITY 

•	LIGHTWEIGHT FOR EASY  
   HANDLING AND OPERATION 
 

•	STAINLESS STEEL CAM RING,  
   RETAINING WASHER AND SNAP RING   
   RESISTS CORROSION AND PROVIDES  
   LONG LASTING PERFORMANCE 

•	POSITIVE LEAK-PROOF  
   CONNECTION ELIMINATES RAMP     
   SPILLAGE AND WASTE CONTACT  
   WITH SERVICING PERSONNEL 

FEATURES

RAMPTECH®  
LAVATORY DRAIN 

COUPLING

You can feel the difference when the 
RAMPTECH® Lavatory Drain Coupling 
locks in place. The positive snap feel lets 
you know it’s locked on and it’s going to 
stay locked on. 
 
The RAMPTECH® Lavatory Drain Coupling 
provides a positive leak-proof connection 
on all standard 4 in. drain valves and 
flanges, eliminating ramp spills and 
waste contact with ground support 
servicing personnel. 

ENGINEERED NOT JUST  
TO DO THE JOB, BUT TO  
DO A BETTER JOB 

PRODUCT SHEET
QUICKER AND EASIER TO USE WHILE PROVIDING A LEAK-PROOF SEAL

SAGE P/N: 383038RT



30 HUB DRIVE,  MELVILLE,  NY 11747   |   + 1 .877.SAGE.877   |   + 1 .631 .501 .1300 TEL   |   + 1 .631 .501 .1619  FAX 

sagepar ts .com /  in fo@sagepar ts .com

RAMPTECH® LAVATORY DRAIN COUPLING

SUPERIOR CONSTRUCTION
LIGHTWEIGHT DESIGN

PRODUCT SHEET

RAMPTECH® couplings are constructed of extra durable, impact-resistant, 
non-porous composite material that will withstand the most demanding 
high volume usage in the most demanding ramp conditions.  

3

6

5

8

2

4

2

2

7

1

A

 5.563
141.29

 

4.000
101.60

 4.190
106.43

 

 1.624
41.24

 

5.650
143.51

NOTES:
REFERENCE ASME Y14.5-20091.
BREAK ALL SHARP EDGES, REMOVE ALL BURRS2.
MATERIAL:3.
FINISH/COLOR:4.
HARDNESS:5.
WEIGHT:6.

ITEM NO. PartNo DESCRIPTION
1 383038_01 4.0 INNER SLEEVE 1
2 383038_02 DOWEL PIN 3/16 X 1/2L, SS (AS 002942) 3
3 383025 RING RETAINING RING 1
4 383025SEAL SEAL, SQUARE RING 1
5 383038_5 SCREW, 8-32 X 5/16" PAN HEAD SS 18-8 (MCM 91772A191 OR EQUIVALENT) 3
6 383020_CAM CAM, 4" LAV DRAIN COUPLING 1
7 383038_07 LOCKING BALL, SS, GR 100, .25IN DIA (AS 001807) 6
8 383038_09 LAV COUPLING OUTER RING RT 1

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

E5 A SCREW (5) WAS 3/8" LONG 08/24/2020 HB

D

C

BB

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

SHEET 1 OF 1

WASTE COUPLING, 4"

07/28/2020

A
SCALE: 2:3

REVDWG.  NO.

C
SIZE

TITLE:
Q.A.

MFG

APPROVED

CHECKED

DRAWN

TOL: UNLESS NOTED
.XXX = +/-.005 (0,127)
.XX   = +/-.03 (0,76)
.X     = +/-.06 (1,5)
ANGLE = 1 DEGREE

THIS DOCUMENT IS THE SOLE PROPERT OF SAGE PARTS PLUS INC.  IN ACCEPTING 
POSSESSION THE RECIPIENT AGREES NOT TO COPY, DISCLOSE TO ANY THIRD PARTY 
OR USE IN ANY MANNER WITHOUT THE EXPRESSED WRITTEN CONSENT OF SAGE 
PARTS PLUS, INC.

SAGE PARTS PLUS, INCHB

383038MATERIAL: 

SAVED 01/15/2021 5:03:08 PMS:\Product Support\Dwgs\Harry\Lav Coupling\383038 LOGOS\383038

A
A

THIRD ANGLE
PROJECTION

01/15/2021 5:03:08 PM

SPECIFICATIONS
Size: 4 in. (102 mm)
Termination Type Fitting: 4 in. (102 mm) Hose
Material: Composite

RAMPTECH® LAV WYE  
DRAIN COUPLING
Wye drain with mating hose bib connection 
for all standard 4 in. Lav service hoses

SAGE P/N: 383331
 

3

6

5

8

2

4

2

2

7

1

A

 5.563
141.29

 

4.000
101.60

 4.190
106.43

 

 1.624
41.24

 

5.650
143.51

NOTES:
REFERENCE ASME Y14.5-20091.
BREAK ALL SHARP EDGES, REMOVE ALL BURRS2.
MATERIAL:3.
FINISH/COLOR:4.
HARDNESS:5.
WEIGHT:6.

ITEM NO. PartNo DESCRIPTION
1 383038_01 4.0 INNER SLEEVE 1
2 383038_02 DOWEL PIN 3/16 X 1/2L, SS (AS 002942) 3
3 383025 RING RETAINING RING 1
4 383025SEAL SEAL, SQUARE RING 1
5 383038_5 SCREW, 8-32 X 5/16" PAN HEAD SS 18-8 (MCM 91772A191 OR EQUIVALENT) 3
6 383020_CAM CAM, 4" LAV DRAIN COUPLING 1
7 383038_07 LOCKING BALL, SS, GR 100, .25IN DIA (AS 001807) 6
8 383038_09 LAV COUPLING OUTER RING RT 1

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

E5 A SCREW (5) WAS 3/8" LONG 08/24/2020 HB

D

C

BB

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

SHEET 1 OF 1

WASTE COUPLING, 4"

07/28/2020

A
SCALE: 2:3

REVDWG.  NO.

C
SIZE

TITLE:
Q.A.

MFG

APPROVED

CHECKED

DRAWN

TOL: UNLESS NOTED
.XXX = +/-.005 (0,127)
.XX   = +/-.03 (0,76)
.X     = +/-.06 (1,5)
ANGLE = 1 DEGREE

THIS DOCUMENT IS THE SOLE PROPERT OF SAGE PARTS PLUS INC.  IN ACCEPTING 
POSSESSION THE RECIPIENT AGREES NOT TO COPY, DISCLOSE TO ANY THIRD PARTY 
OR USE IN ANY MANNER WITHOUT THE EXPRESSED WRITTEN CONSENT OF SAGE 
PARTS PLUS, INC.

SAGE PARTS PLUS, INCHB

383038MATERIAL: 

SAVED 01/15/2021 5:03:08 PMS:\Product Support\Dwgs\Harry\Lav Coupling\383038 LOGOS\383038

A
A

THIRD ANGLE
PROJECTION

01/15/2021 5:03:08 PM


